Year 5
Block 2 Assessment
Paper 1
Non-Calculator Paper
(Answers after each question)




Question 1

Write the number that
should go In the empty box.




Answer

a. (SXE)+4—19 b. (GXE)H—QS
C. EXS)—I—W d. (8){6)-@:45

e. (9x9) +E 83




Question 2

Write the number that should
go In the empty box.




Answer

d) Any 2 numbers
added to make 16

¢) Any 2 numbers
added to make 36
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Question 3

Write the number that
should go In the empty

a. 60+60—D b. 130+130—D

‘. 2x180D 1 QXD_:MO
e 2D—540




Answer

2 60+60: b. 130+130=

c. 2x 180=4360 d. 2x j170)= 340

e. 2x02700= 540
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Question 4

Round these decimal numbers
to the nearest whole number.

Rounded to the nearest
whole number

Decimal Number

9.6

1.8

19.4

109.6

229.2

\ 1 [



Decimal Number

Answer

Rounded to the nearest
whole number

9.0

10

[1.8

12

194

19

109.6

110

229.2

229
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Question 5

Round these amounts of money
to the nearest pound.

Rounded to the nearest
pound

Amount of Money

£3.98

£5.438

£12.51

63p

£29.03

Flrded oy hnsy:



Answer

Rounded to the nearest
pound
£3.98 £4
£5.48 £5
£12.51 £13
68p £1
£29.05 £29

Amount of Money
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Question 6

Complete the table

Equivalent Decimal

Fraction

Frrge jro-fy g fhinee



Answer

Fraction Equivalent Decimal

0.75
1 0.01

86/100 or 43/50 0.86

13 1.25
12 3/10 12.3
092/100 or 46/50 or 23/25 0.92
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Question 7

Write these numbers out In order
from the lowest to the highest.
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-8, -0, -2, 5, [

Answer

gt



Question 8

The temperature at
midday was 5° C. At
midnight the
temperature had
fallen by 8° C. What
was the temperature

at midnight?




-3° C




Shape

Show one axis of
reflective symmetry

Question 9

How many axis of
syminetry does
each shape have?

Square

4

Equilateral
triangle

Rectangle

Pentagon

T
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Shape

Show one axis of
reflective symmetry

Answer

How many axis of
symmetry does
each shape have?

Square

K

4

Equilateral
triangle

A

Rectangle

‘?}:

1
|

Pentagon

3
2
S

il



Question 10a

Write the length of these
objects In centimetres.

Object

Length

Length in cm

Pencil

[ 80mm

cm

Table

Im 62cm

cimn

Room

3.6m

cim

Fishing Rod

2.05m

cim

Book

0.29m

cm



Object

Length

Answer

Length in ecm

Pencil

1 80mm

18 cm

Table

Im 62¢cm

162 cm

Room

8.6m

860 cm

Fishing Rod

2.05m

muﬁ;

”'J .u’

205 cm

Book

0.29m

29 em
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Question 10b

It iIs 1.6km from

the supermarket

to Wigan Town
Centre.
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How many metres
IS this distance?




1600m

Answer

{rmmmm



Question 10c

Complete the table below.
There are about 8 kilometres
equal to 5 miles.

Journey

Distance i
kilometres

Distance 1n miles

Leigh — Ince

8

5

Wigan — St Helens

10

Wigan — Southport

Wigan — Stoke

Wigan — Kendal




Journey

Distance 1in
kilometres

Answer

Distance 1n miles

Leigh — Ince

8

S

Wigan — St Helens

10

Wigan — Southport

20

Wigan — Stoke

50

Wigan — Kendal

35
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Question 11

How long 1s the base of this 1sosceles triangle?

b) In the box draw a line 7.3cm long. Start your line at the dot.
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Answer

Need to measure - If
using paper version It
IS 43 mm
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Question 12

a) Calculate the perimeter ot these shapes.

3cm

3cm 3cim

Jcm 3cm

Scm 3cm
Perumeter........ cm Perumeter........ cm
15cm

Scim P
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b) The perumeter of a square 1s 18cm. =
What 1s the length of each side? =
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